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QUESTION 1

Which approach is used by Al system to understand human languages like English and French?
A. Natural Language Processing

B. Al Language Interpretation

C. Human Text Processing

D. Neuro-Linguistic Programming

Correct Answer: A

Reference: https://www.ibm.com/watson/services/natural-language-understanding/

QUESTION 2

What are two of the main endpoints of the IBM Watson Text To Speech REST API? (Choose two.)
A. vocalization

B. intonation

C. voices

D. synthesis

E. accent

Correct Answer: CD

Reference: https://cloud.ibm.com/apidocs/text-to-speech

QUESTION 3

What are two advantages gained by using IBM Cloud as the application platform for an application using Watson

services? (Choose two.)

A. IBM Cloud is built on proprietary APIs which provide competitive advantages

B. The IBM Cloud application developer can choose among multiple release versions of the Cloud Foundry framework

C. IBM Cloud promotes 12-factor methodology since IBM Cloud is deployed exclusively as a public cloud model

D. Environmental, operational, and functional Security are built into the IBM Cloud platform

E. Scaling application capacity is simple for applications following modern design (such as 12-factor methodology)

Correct Answer: BD
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QUESTION 4

Which statement is the purpose of the IBM Watson SDKs?

A. It allows Ul designers to identify Al relations in their prototypes.
B. It allows developers to discover Al services.

C. It allows developers to add Al services to their applications.

D. It allows end users to provide Al use cases and requirements.

Correct Answer: C

QUESTION 5

Before a developer can work with any of the IBM Cloud services, they need to obtain service credentials. What is the
proper procedure to do this in IBM Cloud?

A. Log-in to IBM Cloud, navigate to your account profile, then copy the account credentials into the application for
service access.

B. Log-in to IBM Cloud, navigate to your account, and view your user credentials.
C. The IBM Cloud credentials are the same as your service credentials.

D. Create a service instance within IBM Cloud, create the service credentials, use the service credentials in the
application.

Correct Answer: A
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